o] Wol7l 132 cm? o] B2
132+ 12 = 11(cm)




Atrel el Yol g ot By YUt ol
AL 12A Q.

_ocm- _

-

“~-8cm---

(D+8)x@+2=0x®+2=0B(cm?)

-

® 13 @ 4 ()52
B

(Aetel ] el)
— (1 4ok o] +2
— (548) x4+2

=13 x4 +2=26(cm?)
(D+8)x@+2=0x®+2=0(cm?)
ofetA

Eg] gro

= ETE

OHAY.




Eel7F 38 cm Q) AAZEH Y A 27E9 em &
% cm A7F?

, o] 2] }\]-71-’6‘:] o] 7]_ =S
C} -
H -

| 2
> HE

10cm

D ~
Ao 7425 [ Jemz} s
(J+9yx2=38
[[J+9=19
[ ]=19-9=10(cm)




40cm 2600m

(400 — 40) x (260 — 40)
= 360 x 220
= 79200(cm?)




A7} 300 cm o3, A7k Al Ll AAzge) Wolg Tt

=
Q.

’ [l Cm2
> ®EH 3600cm?

B

PERETS }lomi

oF gt

wrakA] A2 9] Zol= 300 + 10 = 30( cm)

7F2 30 x4 = 120(cm),
(A2 9] §e])=120 x 30 = 3600( cm?)




